# Split Jacobsthal and Jacobsthal-Lucas Quaternions 

Tülay Yaǧmur<br>Department of Mathematics, Aksaray University, 68100 Aksaray, Turkey;<br>Program of Occupational Health and Safety, Aksaray University, 68100 Aksaray, Turkey tulayyagmur@aksaray.edu.tr

[^0]Keywords. Jacobsthal numbers; Jacobsthal-Lucas numbers; Split quaternions; Recurrence relations MSC. 11B39; 11B37; 11R52

Received: April 26, $2018 \quad$ Accepted: March 27, 2019
Copyright © 2019 Tülay Yağmur. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

The quaternion numbers have been introduced by William Rowan Hamilton in the mid nineteenth century. Quaternions are four-dimensional hyper-complex numbers.

A quaternion is defined by

$$
p=p_{0}+p_{1} e_{1}+p_{2} e_{2}+p_{3} e_{3},
$$

where $p_{0}, p_{1}, p_{2}$ and $p_{3}$ are real numbers, and the units $e_{1}, e_{2}, e_{3}$ satisfy the rules

$$
\begin{align*}
& e_{1}^{2}=e_{2}^{2}=e_{3}^{2}=e_{1} e_{2} e_{3}=-1 \\
& e_{1} e_{2}=e_{3}=-e_{2} e_{1}, \quad e_{2} e_{3}=e_{1}=-e_{3} e_{2}, \quad e_{3} e_{1}=e_{2}=-e_{1} e_{3} . \tag{1}
\end{align*}
$$

For more details on quaternions, one can see, for example [5, 17].

The split quaternions, in other words coquaternions, have been introduced by James Cockle in 1849. Split quaternions form a four-dimensional non-commutative associative algebra over the real numbers with basis $\left\{1, e_{1}, e_{2}, e_{3}\right\}$.

A split quaternion $q$ is of the form

$$
q=q_{0}+q_{1} e_{1}+q_{2} e_{2}+q_{3} e_{3}=\left(q_{0}, q_{1}, q_{2}, q_{3}\right)
$$

where $q_{0}, q_{1}, q_{2}$ and $q_{3}$ are real numbers, and the units $e_{1}, e_{2}, e_{3}$ satisfy the rules

$$
\begin{align*}
& e_{1}^{2}=-1, \quad e_{2}^{2}=e_{3}^{2}=e_{1} e_{2} e_{3}=1, \\
& e_{1} e_{2}=e_{3}=-e_{2} e_{1}, \quad e_{2} e_{3}=-e_{1}=-e_{3} e_{2}, \quad e_{3} e_{1}=e_{2}=-e_{1} e_{3} . \tag{2}
\end{align*}
$$

The conjugate of split quaternion $q$ denoted by $\bar{q}$ is

$$
\bar{q}=q_{0}+q_{1} e_{1}-q_{2} e_{2}-q_{3} e_{3},
$$

and the norm of $q$ is

$$
N(q)=q \bar{q}=q_{0}^{2}+q_{1}^{2}-q_{2}^{2}-q_{3}^{2} .
$$

The Fibonacci sequence is defined recursively by the relation $F_{n}=F_{n-1}+F_{n-2}$ with initial conditions $F_{0}=0$ and $F_{1}=1$. Similarly, the Lucas sequence is defined as $L_{n}=L_{n-1}+L_{n-2}$, where $L_{0}=2$ and $L_{1}=1$.

The Jacobsthal sequence is defined by the recurrence relation $J_{n}=J_{n-1}+2 J_{n-2}$ with initial conditions $J_{0}=0$ and $J_{1}=1$. Also, the Jacobsthal-Lucas sequence is defined recursively by the relation $j_{n}=j_{n-1}+2 j_{n-2}$, where $j_{0}=2$ and $j_{1}=1$.

The generating functions of the Jacobsthal and Jacobsthal-Lucas sequences are given by

$$
G(t)=\frac{t}{1-t-2 t^{2}}
$$

and

$$
g(t)=\frac{2-t}{1-t-2 t^{2}}
$$

respectively. Moreover, the Binet's formulas for these sequences are defined as

$$
\begin{equation*}
J_{n}=\frac{2^{n}-(-1)^{n}}{3} \tag{3}
\end{equation*}
$$

and

$$
\begin{equation*}
j_{n}=2^{n}+(-1)^{n}, \tag{4}
\end{equation*}
$$

respectively. There have been many studies on the Jacobsthal and Jacobsthal-Lucas sequences (see, for example [3, 7, 9, 16]).

Horadam [6] defined the Fibonacci and Lucas quaternions as

$$
Q_{n}=F_{n}+F_{n+1} e_{1}+F_{n+2} e_{2}+F_{n+3} e_{3}
$$

and

$$
K_{n}=L_{n}+L_{n+1} e_{1}+L_{n+2} e_{2}+L_{n+3} e_{3}
$$

respectively, where $F_{n}$ is the $n$th Fibonacci number, $L_{n}$ is the $n$th Lucas number, and $e_{1}, e_{2}, e_{3}$ satisfy the rules (1).

Iyer [8] investigated the relations between the Fibonacci and Lucas quaternions. Moreover, Halici [4] obtained some properties of the Fibonacci quaternions. In [11], Ramirez defined $k$-Fibonacci and $k$-Lucas quaternions. Furthermore, Tan et al. [13, 14] introduced the bi-periodic Fibonacci and Lucas quaternions.

Akyigit et al. [1] defined the split Fibonacci and Lucas quaternions as

$$
Q_{n}=F_{n}+F_{n+1} e_{1}+F_{n+2} e_{2}+F_{n+3} e_{3}
$$

and

$$
T_{n}=L_{n}+L_{n+1} e_{1}+L_{n+2} e_{2}+L_{n+3} e_{3},
$$

respectively, where $F_{n}$ is the $n$th Fibonacci number, $L_{n}$ is the $n$th Lucas number, and $e_{1}, e_{2}, e_{3}$ satisfy the rules (2).

Polatli et al. [10] studied the split $k$-Fibonacci and $k$-Lucas quaternions, and in [15], Tokeser et al. introduced the split Pell and Pell-Lucas quaternions.

The Jacobsthal and Jacobsthal-Lucas quaternions are defined by Szynal-Liana and Włoch [12] as

$$
J Q_{n}=J_{n}+J_{n+1} e_{1}+J_{n+2} e_{2}+J_{n+3} e_{3}
$$

and

$$
J L Q_{n}=j_{n}+j_{n+1} e_{1}+j_{n+2} e_{2}+j_{n+3} e_{3},
$$

respectively, where $J_{n}$ is the $n$th Jacobsthal number, $j_{n}$ is the $n$th Jacobsthal-Lucas number, and $e_{1}, e_{2}, e_{3}$ satisfy the rules (1).

Aydin and Yuce [2] investigated some properties of the Jacobsthal and Jacobsthal-Lucas quaternions.

The main objective of this paper is to introduce split Jacobsthal quaternions and split Jacobsthal-Lucas quaternions. We also aim to obtain some properties of these quaternions including generating functions, Binet's formulas, determinantal representations, matrix representations, Cassini's identities, Catalan's identities, and d'Ocagne's identities.

## 2. Split Jacobsthal and Split Jacobsthal-Lucas Quaternions

The $n$th split Jacobsthal quaternion and $n$th split Jacobsthal-Lucas quaternion are defined, for $n \geq 0$, by

$$
S J Q_{n}=J_{n}+J_{n+1} e_{1}+J_{n+2} e_{2}+J_{n+3} e_{3}
$$

and

$$
S J L Q_{n}=j_{n}+j_{n+1} e_{1}+j_{n+2} e_{2}+j_{n+3} e_{3},
$$

respectively, where $J_{n}$ is the $n$th Jacobsthal number, $j_{n}$ is the $n$th Jacobsthal-Lucas number, and $e_{1}, e_{2}, e_{3}$ are split quaternionic units which satisfy the rules (2).

It is easy to see that

$$
\begin{equation*}
S J Q_{n}=S J Q_{n-1}+2 S J Q_{n-2} \tag{5}
\end{equation*}
$$

and

$$
\begin{equation*}
S J L Q_{n}=S J L Q_{n-1}+2 S J L Q_{n-2} . \tag{6}
\end{equation*}
$$

The generating functions for the split Jacobsthal and Jacobsthal-Lucas quaternions are given in the following theorem.

Theorem 1. The generating functions of the split Jacobsthal and split Jacobsthal-Lucas quaternions are

$$
\begin{equation*}
J(t)=\frac{S J Q_{0}(1-t)+S J Q_{1} t}{1-t-2 t^{2}} \tag{7}
\end{equation*}
$$

and

$$
\begin{equation*}
J L(t)=\frac{S J L Q_{0}(1-t)+S J L Q_{1} t}{1-t-2 t^{2}} \tag{8}
\end{equation*}
$$

respectively.
Proof. Let us write

$$
J(t)=\sum_{n=0}^{\infty} S J Q_{n} t^{n}=S J Q_{0}+S J Q_{1} t+S J Q_{2} t^{2}+S J Q_{3} t^{3}+\ldots+S J Q_{n} t^{n}+\ldots
$$

Then, we have

$$
t J(t)=S J Q_{0} t+S J Q_{1} t^{2}+S J Q_{2} t^{3}+\ldots+S J Q_{n-1} t^{n}+\ldots
$$

and

$$
2 t^{2} J(t)=2 S J Q_{0} t^{2}+2 S J Q_{1} t^{3}+\ldots+2 S J Q_{n-2} t^{n}+\ldots .
$$

Thus, we obtain

$$
\begin{aligned}
\left(1-t-2 t^{2}\right) J(t) & =S J Q_{0}+\left(S J Q_{1}-S J Q_{0}\right) t+\sum_{n=2}^{\infty}\left(S J Q_{n}-S J Q_{n-1}-2 S J Q_{n-2}\right) t^{n} \\
& =S J Q_{0}+\left(S J Q_{1}-S J Q_{0}\right) t
\end{aligned}
$$

which completes the proof of eq. (7).
Eq. (8) can be proved similarly.
The following theorem gives Binet's formulas for the split Jacobsthal and Jacobsthal-Lucas quaternions.

Theorem 2. The nth term of the split Jacobsthal quaternion and the nth term of the split Jacobsthal-Lucas quaternion are

$$
\begin{equation*}
S J Q_{n}=\frac{\alpha^{*} 2^{n}-\beta^{*}(-1)^{n}}{3} \tag{9}
\end{equation*}
$$

and

$$
\begin{equation*}
S J L Q_{n}=\alpha^{*} 2^{n}+\beta^{*}(-1)^{n}, \tag{10}
\end{equation*}
$$

respectively, where $\alpha^{*}=(1,2,4,8)$ and $\beta^{*}=(1,-1,1,-1)$.

Proof. The characteristic equation of the recurrence relations (5) and (6) is $t^{2}-t-2=0$, and the roots of this equation are 2 and -1 . From the recurrence relation and initial values $S J Q_{0}=(0,1,1,3), S J Q_{1}=(1,1,3,5)$, Binet's formula for $S J Q_{n}$ is obtained as

$$
S J Q_{n}=c_{1} 2^{n}+c_{2}(-1)^{n}=\frac{1}{3}\left[(1,2,4,8) 2^{n}-(1,-1,1,-1)(-1)^{n}\right],
$$

where $c_{1}=\frac{S J Q_{0}+S J Q_{1}}{3}=\frac{\alpha^{*}}{3}$ and $c_{2}=\frac{2 S J Q_{0}-S J Q_{1}}{3}=\frac{-\beta^{*}}{3}$.
Thus, we get

$$
S J Q_{n}=\frac{\alpha^{*} 2^{n}-\beta^{*}(-1)^{n}}{3}
$$

Similarly, from the recurrence relation and initial values $S J L Q_{0}=(2,1,5,7), S J L Q_{1}=$ ( $1,5,7,17$ ), Binet's formula for $S J L Q_{n}$ is obtained as

$$
S J L Q_{n}=(1,2,4,8) 2^{n}+(1,-1,1,-1)(-1)^{n}=\alpha^{*} 2^{n}+\beta^{*}(-1)^{n} .
$$

Theorem 3. For $n \geq 1$, let $\mathbf{P}_{\mathbf{n}}$ be $n \times n$ tridiagonal matrix defined by

$$
\mathbf{P}_{\mathbf{n}}=\left(\begin{array}{cccccc}
P_{11} & P_{12} & 0 & 0 & \cdots & 0 \\
-2 & 1 & 2 & 0 & \cdots & 0 \\
0 & -1 & 1 & 2 & \ddots & 0 \\
0 & 0 & -1 & 1 & \ddots & 0 \\
& & & & & \\
\vdots & \ddots & \ddots & \ddots & \ddots & 2 \\
0 & \ldots & \cdots & 0 & -1 & 1
\end{array}\right)
$$

and for $P_{11}=S J Q_{1}$ and $P_{12}=S J Q_{0}$, let $\mathbf{P}_{\mathbf{0}}=S J Q_{0}$, and for $P_{11}=S J L Q_{1}$ and $P_{12}=S J L Q_{0}$, let $\mathbf{P}_{\mathbf{0}}=S J L Q_{0}$. Then

$$
\operatorname{det} \mathbf{P}_{\mathbf{n}}=S J Q_{n}
$$

where $P_{11}=S J Q_{1}$ and $P_{12}=S J Q_{0}$, and

$$
\operatorname{det} \mathbf{P}_{\mathbf{n}}=S J L Q_{n}
$$

where $P_{11}=S J L Q_{1}$ and $P_{12}=S J L Q_{0}$.
Proof. We prove the theorem for $P_{11}=S J Q_{1}$ and $P_{12}=S J Q_{0}$. The other condition can be done similarly.
We use mathematical induction on $n$. For $n=1$ and $n=2$, we have

$$
\operatorname{det} \mathbf{P}_{\mathbf{1}}=P_{11}=S J Q_{1} \quad \text { and } \quad \operatorname{det} \mathbf{P}_{\mathbf{2}}=P_{11}+2 P_{12}=S J Q_{2}
$$

Let us assume that the equality holds for $n-1$ and $n-2$, that is,

$$
\operatorname{det} \mathbf{P}_{\mathbf{n}-\mathbf{1}}=S J Q_{n-1} \quad \text { and } \quad \operatorname{det} \mathbf{P}_{\mathbf{n}-\mathbf{2}}=S J Q_{n-2}
$$

Finally, for $n$, we get

$$
\operatorname{det} \mathbf{P}_{\mathbf{n}}=\operatorname{det} \mathbf{P}_{\mathbf{n}-\mathbf{1}}+2 \operatorname{det} \mathbf{P}_{\mathbf{n}-\mathbf{2}}=S J Q_{n-1}+2 S J Q_{n-2}=S J Q_{n} .
$$

Theorem 4. Let $n$ be positive integer. Then

$$
\left(\begin{array}{ll}
1 & 2 \\
1 & 0
\end{array}\right)^{n-1}\left(\begin{array}{ll}
S J Q_{2} & S J Q_{1} \\
S J Q_{1} & S J Q_{0}
\end{array}\right)=\left(\begin{array}{cc}
S J Q_{n+1} & S J Q_{n} \\
S J Q_{n} & S J Q_{n-1}
\end{array}\right)
$$

and

$$
\left(\begin{array}{ll}
1 & 2 \\
1 & 0
\end{array}\right)^{n-1}\left(\begin{array}{cc}
S J L Q_{2} & S J L Q_{1} \\
S J L Q_{1} & S J L Q_{0}
\end{array}\right)=\left(\begin{array}{cc}
S J L Q_{n+1} & S J L Q_{n} \\
S J L Q_{n} & S J L Q_{n-1}
\end{array}\right) .
$$

This theorem can be proved easily by using mathematical induction on $n$. Moreover, the consequence of this theorem, which gives the Cassini's identities involving the split Jacobsthal and Jacobsthal-Lucas quaternions, is the following theorem.

Theorem 5. For positive integer $n$, we have

$$
S J Q_{n+1} S J Q_{n-1}-S J Q_{n}^{2}=(-2)^{n-1} \lambda
$$

and

$$
S J L Q_{n+1} S J L Q_{n-1}-S J L Q_{n}^{2}=(-1)^{n} 2^{n-1} 9 \lambda,
$$

where $\lambda=(1,-5,-3,-9)$.
Proof. By taking determinants of the matrices defined in Theorem 4, the proof can be done easily.

Now we give the Catalan's identities involving the split Jacobsthal and Jacobsthal-Lucas quaternions in the following theorem.

Theorem 6. For $r \leq n$, let $n$ and $r$ be positive integers. Then

$$
S J Q_{n+r} S J Q_{n-r}-S J Q_{n}^{2}=(-2)^{n-r} \frac{1}{3}\left(\mu_{1} 2^{r}-\mu_{2}(-1)^{r}\right) J_{r}
$$

and

$$
S J L Q_{n+r} S J L Q_{n-r}-S J L Q_{n}^{2}=(-1)^{n-r+1} 2^{n-r}\left(\mu_{2}+\mu_{1} 4^{r}-\left(\mu_{1}+\mu_{2}\right)(-2)^{r}\right),
$$

where $\mu_{1}=(1,-13,1,-13)$ and $\mu_{2}=(1,11,-11,-1)$.
Proof. By using the Binet's formula (9), we have

$$
\begin{aligned}
& S J Q_{n+r} S J Q_{n-r}-S J Q_{n}^{2} \\
& \quad=\frac{\alpha^{*} 2^{n+r}-\beta^{*}(-1)^{n+r}}{3} \frac{\alpha^{*} 2^{n-r}-\beta^{*}(-1)^{n-r}}{3}-\frac{\alpha^{*} 2^{n}-\beta^{*}(-1)^{n}}{3} \frac{\alpha^{*} 2^{n}-\beta^{*}(-1)^{n}}{3} \\
& \quad=\frac{1}{9}\left[\alpha^{*} \beta^{*}(-2)^{n}+\beta^{*} \alpha^{*}(-2)^{n}-\alpha^{*} \beta^{*}(-1)^{n-r} 2^{n+r}-\beta^{*} \alpha^{*}(-1)^{n+r} 2^{n-r}\right] \\
& \quad=\frac{1}{9}\left[\beta^{*} \alpha^{*}(-1)^{r}(-2)^{n-r}\left(2^{r}-(-1)^{r}\right)-\alpha^{*} \beta^{*}(-1)^{n-r} 2^{n}\left(2^{r}-(-1)^{r}\right)\right] \\
& \quad=\frac{2^{r}-(-1)^{r}}{3}(-2)^{n-r} \frac{1}{3}\left[\beta^{*} \alpha^{*}(-1)^{r}-\alpha^{*} \beta^{*} 2^{r}\right] .
\end{aligned}
$$

Since $\alpha^{*}=(1,2,4,8)$ and $\beta^{*}=(1,-1,1,-1)$, and also by considering eq. (3), we obtain the desired result.

The other identity can be proved similarly by using the Binet's formula (10).

Note that if we set $r=1$ in Theorem 6, the Cassini's identities involving the split Jacobsthal and Jacobsthal-Lucas quaternions, which are given in Theorem 5can be obtained again.

The following theorem gives the d'Ocagne's identities involving the split Jacobsthal and Jacobsthal-Lucas quaternions.

Theorem 7. Let $m$ and $n$ be two positive integers. Then

$$
S J Q_{m} S J Q_{n+1}-S J Q_{n} S J Q_{m+1}=(-1)^{n+1} 2^{n} \rho J_{m-n}
$$

and

$$
S J L Q_{m} S J L Q_{n+1}-S J L Q_{n} S J L Q_{m+1}=(-2)^{n} 3 \rho\left(2^{m-n}-(-1)^{m-n}\right),
$$

where $\rho=(1,3,-7,-5)$.
Proof. By using the Binet's formula (10), we have

$$
\begin{aligned}
& S J L Q_{m} S J L Q_{n+1}-S_{J L L} S J L Q_{m+1} \\
& \quad=\left(\alpha^{*} 2^{m}+\beta^{*}(-1)^{m}\right)\left(\alpha^{*} 2^{n+1}+\beta^{*}(-1)^{n+1}\right)-\left(\alpha^{*} 2^{n}+\beta^{*}(-1)^{n}\right)\left(\alpha^{*} 2^{m+1}+\beta^{*}(-1)^{m+1}\right) \\
& \quad=\alpha^{*} \beta^{*}(-1)^{n+1} 2^{m}+\beta^{*} \alpha^{*}(-1)^{m} 2^{n+1}-\alpha^{*} \beta^{*}(-1)^{m+1} 2^{n}-\beta^{*} \alpha^{*}(-1)^{n} 2^{m+1} \\
& \quad=(-2)^{n}\left(-\alpha^{*} \beta^{*}-2 \beta^{*} \alpha^{*}\right)\left(2^{m-n}-(-1)^{m-n}\right) .
\end{aligned}
$$

Since $\alpha^{*}=(1,2,4,8)$ and $\beta^{*}=(1,-1,1,-1)$, we obtain

$$
S J L Q_{m} S J L Q_{n+1}-S J L Q_{n} S J L Q_{m+1}=(-2)^{n} 3 \rho\left(2^{m-n}-(-1)^{m-n}\right) .
$$

In a similar way, the first identity can be proved.

## 3. Results

In this section, we derive some identities of the split Jacobsthal quaternions and split JacobsthalLucas quaternions.

Theorem 8. Let $m, n$ and $r$ be positive integers. Then

$$
\begin{align*}
& 2 S J Q_{n-1}+S J Q_{n+1}=S J Q_{n},  \tag{11}\\
& 9 S J Q_{n}^{2}-S J L Q_{n}^{2}=(-2)^{n+2}(1,-1,-5,-7),  \tag{12}\\
& S J Q_{m+n}+(-2)^{n} S J Q_{m-n}=j_{n} S J Q_{m},  \tag{13}\\
& S J L Q_{m+n}+(-2)^{n} S J L Q_{m-n}=j_{n} S J L Q_{m},  \tag{14}\\
& S J Q_{m+n}=J_{n+1} S J Q_{m}+2 J_{n} S J Q_{m-1},  \tag{15}\\
& S J L Q_{m+n}=\frac{1}{3}\left(j_{n+1} S J L Q_{m}+2 j_{n} S J L Q_{m-1}\right),  \tag{16}\\
& S J Q_{2 n}=J_{n+1} S J Q_{n}+2 J_{n} S J Q_{n-1},  \tag{17}\\
& S J Q_{2 n+1}=J_{n+1} S J Q_{n+1}+2 J_{n} S J Q_{n},  \tag{18}\\
& S J Q_{m+n} S J L Q_{m+r}-S J Q_{m+r} S J L Q_{m+n}=(-1)^{m+n} 2^{m+n+1}(1,-1,-5,-7) J_{r-n} . \tag{19}
\end{align*}
$$

Proof. Throughout the proof, we consider $\alpha^{*}=(1,2,4,8)$ and $\beta^{*}=(1,-1,1,-1)$.
(11): By using the Binet's formula (9), we have

$$
\begin{aligned}
2 S J Q_{n-1}+S J Q_{n+1} & =2 \frac{\alpha^{*} 2^{n-1}-\beta^{*}(-1)^{n-1}}{3}+\frac{\alpha^{*} 2^{n+1}-\beta^{*}(-1)^{n+1}}{3} \\
& =\frac{1}{3}\left(3 \alpha^{*} 2^{n}+3 \beta^{*}(-1)^{n}\right) \\
& =\alpha^{*} 2^{n}+\beta^{*}(-1)^{n} .
\end{aligned}
$$

From the Binet's formula (10), the proof of the identity (11) is completed.
(12): From the Binet's formulas (9) and (10), we have

$$
\begin{aligned}
9 S J Q_{n}^{2}-S J L Q_{n}^{2} & =9 \frac{\alpha^{*} 2^{n}-\beta^{*}(-1)^{n}}{3} \frac{\alpha^{*} 2^{n}-\beta^{*}(-1)^{n}}{3}-\left(\alpha^{*} 2^{n}+\beta^{*}(-1)^{n}\right)\left(\alpha^{*} 2^{n}+\beta^{*}(-1)^{n}\right) \\
& =(-2)^{n+1}\left(\alpha^{*} \beta^{*}+\beta^{*} \alpha^{*}\right) \\
& =(-2)^{n+2}(1,-1,-5,-7)
\end{aligned}
$$

(13): By using the Binet's formula (9), we have

$$
\begin{aligned}
S J Q_{m+n}+(-2)^{n} S J Q_{m-n} & =\frac{\alpha^{*} 2^{m+n}-\beta^{*}(-1)^{m+n}}{3}+(-2)^{n} \frac{\alpha^{*} 2^{m-n}-\beta^{*}(-1)^{m-n}}{3} \\
& =\frac{1}{3}\left(2^{n}+(-1)^{n}\right)\left(\alpha^{*} 2^{m}-\beta^{*}(-1)^{m}\right) .
\end{aligned}
$$

From the eqs. (4) and (9), we obtain the desired result.
The proof of the identity (14) can be done similarly by using the Binet's formula (10).
(15): From the definition of the split Jacobsthal quaternion and the identity $J_{m+n}=J_{m} J_{n+1}+$ $2 J_{m-1} J_{n}$ (see [9]), we have

$$
\begin{aligned}
S J Q_{m+n} & =J_{m+n}+J_{m+n+1} e_{1}+J_{m+n+2} e_{2}+J_{m+n+3} e_{3} \\
& =J_{n+1}\left(J_{m}+J_{m+1} e_{1}+J_{m+2} e_{2}+J_{m+3} e_{3}\right)+2 J_{n}\left(J_{m-1}+J_{m} e_{1}+J_{m+1} e_{2}+J_{m+2} e_{3}\right) \\
& =J_{n+1} S J Q_{m}+2 J_{n} S J Q_{m-1} .
\end{aligned}
$$

The identity (16) can be proved similarly by using the identity $j_{m+n}=j_{m} j_{n+1}+2 j_{m-1} j_{n}$. The identities (17) and (18) can be proved by taking, respectively, $m=n$ and $m=n+1$ into eq. (15). (19): By using the Binet's formulas (9) and (10), we have

$$
\begin{aligned}
& S J Q_{m+n} S J L Q_{m+r}-S J Q_{m+r} S J L Q_{m+n} \\
& =\frac{\alpha^{*} 2^{m+n}-\beta^{*}(-1)^{m+n}}{3}\left(\alpha^{*} 2^{m+r}+\beta^{*}(-1)^{m+r}\right)-\frac{\alpha^{*} 2^{m+r}-\beta^{*}(-1)^{m+r}}{3}\left(\alpha^{*} 2^{m+n}+\beta^{*}(-1)^{m+n}\right) \\
& =\frac{1}{3}\left[\alpha^{*} \beta^{*}(-1)^{m+r} 2^{m+n}-\beta^{*} \alpha^{*}(-1)^{m+n} 2^{m+r}-\alpha^{*} \beta^{*}(-1)^{m+n} 2^{m+r}\right. \\
& \left.\quad-\beta^{*} \alpha^{*}(-1)^{m+r} 2^{m+n}\right] \\
& =\frac{2^{r-n}-(-1)^{r-n}}{3}(-1)^{m+n+1} 2^{m+n}\left(\alpha^{*} \beta^{*}+\beta^{*} \alpha^{*}\right) .
\end{aligned}
$$

By considering $\alpha^{*}, \beta^{*}$, and the Binet's formula (3), we get

$$
S J Q_{m+n} S J L Q_{m+r}-S J Q_{m+r} S J L Q_{m+n}=(-1)^{m+n} 2^{m+n+1}(1,-1,-5,-7) J_{r-n} .
$$

## 4. Conclusion

In this study, the split Jacobsthal and Jacobsthal-Lucas quaternions were introduced. Some results including Binet's formulas, generating functions and determinantal representations for these quaternions were given. Moreover, some well-known identities, such as Catalan's, Cassini's and d'Ocagne's identities, involving the split Jacobsthal and Jacobsthal-Lucas quaternions were obtained.

## Acknowledgement

The author would like to thank the anonymous referee for his/her valuable comments and suggestions.

## Competing Interests

The author declares that he has no competing interests.

## Authors' Contributions

The author wrote, read and approved the final manuscript.

## References

[1] M. Akyigit, H. H. Kosal and M. Tosun, Split Fibonacci quaternions, Adv. Appl. Clifford Algebras 23(3) (2013), 535 - 545, DOI: 10.1007/s00006-013-0401-9.
[2] F. T. Aydin and S. Yuce, A new approach to Jacobsthal quaternions, Filomat 31(18) (2017), 5567 5579, DOI: 10.2298/FIL1718567T.
[3] Z. Cerin, Formulae for sums of Jacobsthal-Lucas numbers, International Mathematical Forum 2(40) (2007), 1969 - 1984, DOI: 10.12988/imf.2007.07178.
[4] S. Halici, On Fibonacci quaternions, Adv. Appl. Clifford Algebras 22(2) (2012), 321 - 327, DOI: 10.1007/s00006-011-0317-1.
[5] W. R. Hamilton, Lectures on Quaternions, Hodges and Smith, Dublin (1853).
[6] A. F. Horadam, Complex Fibonacci numbers and Fibonacci quaternions, Am. Math. Monthly 70(3) (1963), 289 - 291, DOI: 10.2307/2313129.
[7] A. F. Horadam, Jacobsthal representation numbers, The Fibonacci Quart. 34 (1996), $40-54$.
[8] M. R. Iyer, A note on Fibonacci quaternions, The Fibonacci Quart. 7(3) (1969), $225-229$.
[9] F. Koken and D. Bozkurt, On the Jacobsthal numbers by matrix methods, Int. J. Contemp. Math. Sci. 3(13) (2008), 605-614.
[10] E. Polatli, C. Kizilates and S. Kesim, On split $k$-Fibonacci and $k$-Lucas quaternions, Adv. Appl. Clifford Algebras 26(1) (2016), 353 - 362, DOI: 10.1007/s00006-015-0591-4.
[11] J. L. Ramirez, Some combinatorial properties of the $k$-Fibonacci and the $k$-Lucas quaternions, Ann. St. Univ. Ovidius Constanta 23(2) (2015), 201 - 212, DOI: 10.1515/auom-2015-0037.
[12] A. Szynal-Liana and I. Włoch, A note on Jacobsthal quaternions, Adv. Appl. Clifford Algebras 26(1) (2016), 441 - 447, DOI: $10.1007 / \mathrm{s} 00006-015-0622-1$.
[13] E. Tan, S. Yilmaz and M. Sahin, On a new generalization of Fibonacci quaternions, Chaos Solitions Fractals 82 (2016), 1 - 4, DOI: 10.1016/j.chaos.2015.10.021.
[14] E. Tan, S. Yilmaz and M. Sahin, A note on bi-periodic Fibonacci and Lucas quaternions, Chaos Solitions Fractals 85 (2016), 138 - 142, DOI: 10.1016/j.chaos.2016.01.025.
[15] U. Tokeser, Z. Unal and G. Bilgici, Split Pell and Pell-Lucas quaternions, Adv. Appl. Clifford Algebras 27(2) (2017), 1881 - 1893, DOI: 10.1007/s00006-016-0747-x.
[16] K. Uslu and S. Uygun, The ( $s, t$ ) Jacobsthal and ( $s, t$ ) Jacobsthal-Lucas matrix sequences, $A R S$ Combinatoria 108 (2013), $13-22$.
[17] J. P. Ward, Quaternions and Cayley Numbers: Algebra and Applications, Kluwer, London (1997), DOI: 10.1007/978-94-011-5768-1.


[^0]:    Abstract. In this paper, we introduce split Jacobsthal and split Jacobsthal-Lucas quaternions. We obtain generating functions and Binet's formulas for these quaternions. We also investigate some properties of them.

